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QUESTION 1
With SERVEROUTPUT enabled, you successfully create the package YEARLY LIST:

CREATE PACKAGE yearly_lst IS
TYPE listl IS TABLE OF VARCHAR?2 (20) INDEX BY PLS _INTEGER:
FUNCTION mit_list] RETURN list1:

END yearly list;

I/

CREATE PACKAGE BODY yearly list IS
FUNCTION mut histl RETURN listl IS
create_list listl:
BEGIN
create list(1) ;= “Jan’;
create_list(3) := ‘Feb';
create list(6) := “Mar;
create list(8) .= “Apr’:
RETURN create list:
END mit_hstl:
END yearly list:

f
Examine this code:

1 DECLARE
2 v_yrl yearly list.create list ();
3 locaiion NUMBER —1:

4 BEGIN

5 WHILE loecation IS NOT NULL LOOP

6 DBMS PUTPUT.PUT LINE (v(yrl (location) ):
T location :=v yrl.NEXT:

8 END LOOP;

9 END:

10/

You want to display the contents of CREATE_LIST.
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Which two lines need to be corrected in the PL/SQL block?
A. Line 2
B. Line 3
C.Line5
D. Line 6
E. Line 7

Correct Answer: AE

QUESTION 2
Which two are correct when migrating BasicFile LOBs to SecureFile LOBs by DBMS_REDEFINITION? (Choose two.)
A. Online redefinition can be done only at the table level.

B. Specify only BasicFiles LOB and SecureFiles LOB column names in parameter col_mapping of
DBMS_REDEFINITION.START_REDEF_TABLE.

C. Set the database initialization parameter db_securefile to NEVER.
D. During migration, specify the NOLOGGING storage parameter for any new SecureFiles LOB columns.
E. Online redefinition is the recommended method for migration of BasicFile LOBs to Secure LOBs.

Correct Answer: BE

QUESTION 3

Which three statements are true about hierarchical profiling? (Choose three.)

A. It provides function-level summaries.

B. It produces an aggregated report of the SQL and PL/SQL execution times.

C. Itis useful for understanding the structure and control flow of complex programs.

D. It can be used to identify hotspots and tuning opportunities in PL/SQL applications.

E. It generates trace information for PL/SQL programs in the PLSQL_TRACE_EVENTS table.

Correct Answer: ACD

QUESTION 4
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View the Exhibit and examine the output.

Which statement is an inference from the output?

5Q0L> SELECT object_name, object_type FROM user_okjects
WHERE object_type like '1%°;

OBIECT_MAME OBIECT_TYPE

FormatCreditCardNo JAVA CLASS
FormatCreditCcardno JAVA SOURCE

A. The class file is pinned into the Java pool.

B. The class file has been loaded into the shared library.

C. Java class methods in the Java class file have been published.

D. The loadjava command has been executed to load the Java source and class files.

Correct Answer: D

QUESTION 5

Which two statements are true about REF CURSOR types? (Choose two.)

A. REF CURSOR types cannot be defined inside a package.

B. SYS_REFCURSOR can be used to declare cursor variables in stored procedures and functions.

C. A REF CURSOR return type can be declared using % TYPE, or % ROWTYPE, or a user- defined record.
D. Only a weak REF CURSOR type can be used as a formal parameter of a stored procedure or function.

Correct Answer: BC
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